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Chapter 5 
Chapter Test B

Multiple Choice

1.
B
2.
C
3.
D
4.
A
5.
A
6.
B
7.
D
8.
B
9.
A
10.
B
11.
A
12.
D
13.
C
14.
A
15.
A
Modified True/False

16.
F, speciation
17.
F, photosynthesis
18.
F, trophic cascade
19.
T
20.
F, mutualism
Completion

21.
invasive
22.
artificial selection
23.
Herbivory
24.
producer
25.
niche
Short Answer

26.
The bird population experienced genetic drift as the result of a sudden catastrophe. The disaster reduced genetic diversity in the population and changed the proportion of birds with a green wing patch vs. a blue wing patch.
27.
Pronghorn probably evolved in an evolutionary ‘arms race’ with the cheetah population. They became faster and faster to escape from cheetahs, which were probably fast enough to catch them.

28.
This is due to inefficient energy transfer through the food web. Only about 10% of energy is available from one level to the next, so a high biomass of plants will support only a few predators.
29.
The wolf population is in decline, so the moose population will rebound, and then the wolf population will also be able to recover. These cycles occur because predators and prey regulate each other.
30.
With more offspring, a wider variety of traits will be produced, and those individuals with the most adaptive traits will survive to pass on their genes. This drives evolution towards natural selection for the most fit individuals.
Other

31.
Plants are producers. Deer, crayfish, moorhens, raccoons, shrimp, and flagfish are primary consumers. Pin frogs, bobcats, alligators, crayfish, killfish, largemouth bass, anhingas, and alligators are secondary consumers.
32.
The anhingas, bobcats, and alligators would probably be fewer in number than other species, since they are secondary or tertiary consumers and much of the ecosystem’s energy has been lost by the time it reaches them.
33.
One percentof the original energy of the plants will be available to the anhinga.
34.
The alligator’s prey species might increase, which might put pressure on plant resources and on other species that the alligator’s prey species eat. On the other hand, competitors of the alligator would most likely flourish, so anhingas might also experience an increase in population.

35.
Alligators and bobcats are competeing for food in the form of moorhens. Raccoons, moorhens, white–tailed deer, crayfish, glass shrimp, and flagfish compete for plant foods. Anhingas and alligators compete for pin frogs. Pin frogs and anhingas compete for crayfish. Bass and anhingas compete for killfish. Bass and killfish compete for grass shrimp and worms.
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